

How to Cite:

Mohammed, A. H., Battor, A. H., & Kuffi, E. A. (2022). New integral transform for solving some kinds of differential equations. *International Journal of Health Sciences*, 6(S3), 1283–1290. <https://doi.org/10.53730/ijhs.v6nS3.5583>

New integral transform for solving some kinds of differential equations

Ali Hassan Mohammed

Kufa University, Faculty of Education for girls, Department of Mathematics, Iraq
Email: prof.ali57hassan@gmail.com

Ali Hussein Battor

Kufa University, Faculty of Education for girls, Department of Mathematics, Iraq
Email: alih.battor@uokufa.edu.iq

Emad Abbas Kuffi

Al-Qadisiyah University, College of Engineering, Department of Materials engineering, Iraq
Email: emad.abbas@qu.edu.iq

Abstract--Our aim in this paper is to introduce new integral transform which we will call it “Battor – AlTememe” transform. This transform is useful for solving many types of differential equations (ordinary and partial) and we will introduce some definitions, concepts and identities. Integral transform is used to solve differential and integral equations. In 2008 [2], the researcher introduced AlTememe transform, which is given by the integral $T(f(x)) = \int_1^\infty x^{-p} f(x) dx = F(p)$, For a function $f(x)$ which is defined on an interval $(1, \infty)$, x^{-p} is the kernel of this transform and p is positive constant such that the above integral is converge.

Keywords--integral transform, solving, differential, equations.

Introduction

Integral transform is used to solve differential and integral equations. In 2008 [2], the researcher introduced AlTememe transform, which is given by the integral $T(f(x)) = \int_1^\infty x^{-p} f(x) dx = F(p)$, For a function $f(x)$ which is defined on an interval $(1, \infty)$, x^{-p} is the kernel of this transform and p is positive constant such that the above integral is converge. Many researchers [3-8] are used this transform to solve different types of differential and integral equations with applications.

Definition (1) [1]: Integral transform

Let f be defined function for $x \in (a, b)$, the integral transform for f whose symbol $F(\lambda)$ is defined as $F(\lambda) = \int_a^b H(\lambda, x) f(x) dx$, where H is a function of the variables λ and x , is the kernel of the integral transform and (a, b) are real numbers or $\mp\infty$ such that the last integral converges.

Definition (2) [2]: Al-Tememe transform

Let f be a function defined in $[1, \infty]$, Al-Tememe transform is defined by (A.T) $(f(x)) = \int_1^\infty x^{-p} f(x) dx$, where the integral is converge and p is a positive number.

Definition (3): Battor-AlTememe transform

Let f be a function defined in $[1, \infty]$, Battor-AlTememe transform is defined by the integral $BA(f(x)) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} f(x) dx = F(\lambda); \lambda > 0$ such that this integral is converge.

Property (1): Battor-AlTememe transform has linearity property, that is $BA(af(x) \mp bg(x)) = a BA(f(x)) \mp b BA(g(x)); a$ and b are constants, f and g are defined in $[1, \infty]$.

Proof:

$$\begin{aligned} BA(af(x) \mp bg(x)) &= \int_1^\infty x^{-\frac{1}{\lambda}} (af(x) \mp bg(x)) dx \\ &= \int_1^\infty ax^{-\frac{1}{\lambda}} f(x) dx \mp \int_1^\infty bx^{-\frac{1}{\lambda}} g(x) dx \\ &= a \int_1^\infty x^{-\frac{1}{\lambda}} f(x) dx \mp b \int_1^\infty x^{-\frac{1}{\lambda}} g(x) dx \\ &= a BA(f(x)) \mp b BA(g(x)) \end{aligned}$$

BA-Transform of fundamental functions

In this section, we will introduce BA-transform of fundamental functions, like constants functions, logarithms functions, hyperbolic functions and triangular functions and other functions.

$$1) \quad BA(1) = \frac{\lambda^2}{1-\lambda}; \lambda \in (0,1)$$

$$\text{Proof: } BA(1) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} dx = \lambda \frac{x^{-\frac{1}{\lambda}+1}}{-\frac{1}{\lambda}+1} \Big|_1^\infty = \frac{\lambda^2}{1-\lambda}$$

$$2) \quad BA(k) = \frac{k\lambda^2}{1-\lambda}; k \text{ is constant, } \lambda \in (0,1)$$

Proof: from (1) and linearity property.

$$3) \quad BA(x^n) = \frac{\lambda^2}{1-(n+1)\lambda}; \lambda \in \left(0, \frac{1}{n+1}\right)$$

$$\text{Proof: } BA(x^n) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}+n} dx = \lambda \frac{x^{-\frac{1}{\lambda}+(n+1)}}{-\frac{1}{\lambda}+(n+1)} \Big|_1^\infty = \frac{\lambda^2}{1-(n+1)\lambda}$$

$$4) \quad BA(\ln(x)) = \frac{\lambda^3}{(1-\lambda)^2}; \lambda \in (0,1)$$

$$\text{Proof: } BA(\ln(x)) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \ln(x) dx = \lambda \left(\frac{x^{-\frac{1}{\lambda}+1}}{-\frac{1}{\lambda}+1} \ln(x) \right) \Big|_1^\infty - \lambda \int_1^\infty \frac{x^{-\frac{1}{\lambda}}}{-\frac{1}{\lambda}+1} dx =$$

$$-\lambda \frac{x^{-\frac{1}{\lambda}+1}}{\left(-\frac{1}{\lambda}+1\right)^2} \Big|_1^\infty = \frac{\lambda^3}{(1-\lambda)^2}$$

5) $BA((\ln(x))^2) = \frac{2\lambda^4}{(1-\lambda)^3}; \lambda \in (0,1)$

Proof: $BA((\ln(x))^2) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} (\ln(x))^2 dx$
 $= \lambda \left(\frac{x^{-\frac{1}{\lambda}+1}}{-\frac{1}{\lambda}+1} \ln(x) \right) \Big|_1^\infty - 2\lambda \int_1^\infty \frac{x^{-\frac{1}{\lambda}}}{-\frac{1}{\lambda}+1} \ln(x) dx$
 $= \frac{2\lambda}{1-\lambda} BA(\ln(x)) = \frac{2\lambda}{1-\lambda} \cdot \frac{\lambda^3}{(1-\lambda)^2} = \frac{2\lambda^4}{(1-\lambda)^3}$

6) $BA((\ln(x))^3) = \frac{6\lambda^5}{(1-\lambda)^4}; \lambda \in (0,1)$

Proof: $BA((\ln(x))^3) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} (\ln(x))^3 dx$
 $= \lambda \left(\frac{x^{-\frac{1}{\lambda}+1}}{-\frac{1}{\lambda}+1} (\ln(x))^3 \right) \Big|_1^\infty - 3\lambda \int_1^\infty \frac{x^{-\frac{1}{\lambda}}}{-\frac{1}{\lambda}+1} (\ln(x))^2 dx = \frac{3\lambda}{1-\lambda} BA((\ln(x))^2) = \frac{6\lambda^5}{(1-\lambda)^4}$

7) $BA((\ln(x))^n) = \frac{n! \lambda^{n+2}}{(1-\lambda)^{n+1}}; \lambda \in (0,1)$

Proof: by induction

8) $BA(\cosh(a \ln(x))) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 - a^2 \lambda^2}$

Proof: $BA(\cosh(a \ln(x))) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \cosh(a \ln(x)) dx = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \frac{x^a + x^{-a}}{2} dx =$
 $\frac{1}{2} (BA(x^a) + BA(x^{-a})) = \frac{1}{2} \left(\frac{\lambda^2}{1-(a+1)\lambda} + \frac{\lambda^2}{1-(-a+1)\lambda} \right) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 - a^2 \lambda^2}$

9) $BA(\sinh(a \ln(x))) = \frac{a \lambda^3}{(1-\lambda)^2 - a^2 \lambda^2}$

Proof: $BA(\sinh(a \ln(x))) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \sinh(a \ln(x)) dx = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \frac{x^a - x^{-a}}{2} dx =$
 $\frac{1}{2} (BA(x^a) - BA(x^{-a})) = \frac{a \lambda^3}{(1-\lambda)^2 - a^2 \lambda^2}$

10) $BA(\cos(a \ln(x))) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 + a^2 \lambda^2}$

Proof: $BA(\cos(a \ln(x))) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \cos(a \ln(x)) dx = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \frac{x^{ai} + x^{-ai}}{2} dx =$
 $\frac{1}{2} (BA(x^{ai}) + BA(x^{-ai})) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 + a^2 \lambda^2}$

11) $BA(\sin(a \ln(x))) = \frac{a \lambda^3}{(1-\lambda)^2 + a^2 \lambda^2}$

Proof: $BA(\sin(a \ln(x))) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \sinh(a \ln(x)) dx = \lambda \int_1^\infty x^{-\frac{1}{\lambda}} \frac{x^a - x^{-a}}{2i} dx =$
 $= \frac{1}{2i} (BA(x^a) - BA(x^{-a})) = \frac{a \lambda^3}{(1-\lambda)^2 + a^2 \lambda^2}$

Examples: In this section, we give some examples.

1. $BA(x) = \frac{\lambda^2}{1-2\lambda}$

2. $BA(x^{-1}) = \lambda^2$

3. $BA((\ln(x))^5) = \frac{5! \lambda^7}{(1-\lambda)^6}$

4. $BA(\cosh(2 \ln(x))) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 - 4\lambda^2}$

5. $BA(\sinh(3 \ln(x))) = \frac{3 \lambda^3}{(1-\lambda)^2 - 9\lambda^2}$

6. $BA(\cos(\frac{1}{2} \ln(x))) = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 + \frac{1}{4}\lambda^2}$

$$7. \quad BA\left(\sin\left(\frac{3}{2}\ln(x)\right)\right) = \frac{\frac{3}{2}\lambda^3}{(1-\lambda)^2 + \frac{9}{4}\lambda^2}$$

Definition (4): Inverse of Battor-AlTememe transform:

If $BA(f(x)) = F(\lambda)$ is Battor-AlTememe transform, then we call $f(x) = (BA)^{-1}(F(\lambda))$ the inverse of Battor-AlTememe transform.

Property (2): the $(BA)^{-1}(F(\lambda))$ has linearity property, i.e $(B.A)^{-1}(a F_1(\lambda) \mp b F_2(\lambda))$

$$= a \left(BA^{-1}(F_1(\lambda)) \mp b (BA)^{-1}(F_2(\lambda)) \right) = af_1(x) \mp b f_2(x)$$

Where a and b are constants.

Example (8): to find $(BA)^{-1} \frac{\lambda^3}{(1-2\lambda)(1-3\lambda)}$

$$\text{Take } \frac{\lambda}{(1-2\lambda)(1-3\lambda)} = \frac{A}{(1-2\lambda)} + \frac{B}{(1-3\lambda)}$$

$$-3A - 2B = 1$$

$$A + B = 0 \rightarrow A = -1; B = 1$$

$$\frac{\lambda}{(1-2\lambda)(1-3\lambda)} = \frac{-1}{(1-2\lambda)} + \frac{1}{(1-3\lambda)}$$

$$\frac{\lambda^3}{(1-2\lambda)(1-3\lambda)} = -\frac{\lambda^2}{(1-2\lambda)} + \frac{\lambda^2}{(1-3\lambda)}$$

$$(BA)^{-1} \frac{\lambda^3}{(1-2\lambda)(1-3\lambda)} = -x + x^2$$

Definition (5): convolution of Battor-AlTememe transform:

Let f and g be a function defined in $[1, \infty]$ then the convolution of f and g is given by:

$$(f * g)(x) = \lambda \int_1^x f(u) g\left(\frac{x}{u}\right) \frac{du}{u}$$

Proof: similar to proof of AlTememe convolution [5], the difference is only we multiply the convolution of AlTememe transform by λ .

Note (1): If $BA(f(x)) = F(\lambda)$ and $BA(g(x)) = G(\lambda)$, then $BA(f * g) = F(\lambda) G(\lambda)$ [5].

Example (9): find $(BA)^{-1} \frac{\lambda^3}{(1-2\lambda)(1-3\lambda)}$

$$(BA)^{-1} \frac{\lambda^3}{(1-2\lambda)(1-3\lambda)} = \frac{1}{\lambda} \cdot \frac{\lambda^4}{(1-2\lambda)(1-3\lambda)} = \frac{1}{\lambda} \cdot \frac{\lambda^2}{(1-2\lambda)} \cdot \frac{\lambda^2}{(1-3\lambda)}$$

$$BA(x) = \frac{\lambda^2}{1-2\lambda}; \quad BA(x^2) = \frac{\lambda^2}{1-3\lambda}$$

$$= \int_1^x u \left(\frac{x}{u}\right)^2 \frac{du}{u} = x^2 \int_1^x u^{-2} du = x^2 \left[\frac{u^{-1}}{-1}\right]_1^x$$

$$= x^2(-x^{-1} + 1) = -x + x^2$$

Battor-AlTememe of derivatives

In this section we will introduce Battor-AlTememe of derivatives and this will simplify to solve the differential equations.

$$1) \quad BA(x\dot{y}) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA(y)$$

$$\text{Proof: } BA(x\dot{y}) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}+1} \dot{y} dx = \lambda \left[x^{-\frac{1}{\lambda}+1} \right]_1^\infty - \left(-\frac{1}{\lambda} + 1 \right) \int_1^\infty x^{-\frac{1}{\lambda}} y dx \\ = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA(y); \quad \lambda \neq 0$$

$$2) BA(x^2y'') = -\lambda y'(1) - (1 - 2\lambda)y(1) + \frac{(1-2\lambda)(1-\lambda)}{\lambda^2} BA(y)$$

$$\text{Proof: } BA(x^2y'') = \lambda \int_1^\infty x^{-\frac{1}{\lambda}+2} y'' dx$$

$$= \lambda [x^{-\frac{1}{\lambda}+2} y']_1^\infty - \left(-\frac{1}{\lambda} + 2 \right) \int_1^\infty x^{-\frac{1}{\lambda}+1} y' dx = -\lambda y'(1) + \frac{(1-2\lambda)}{\lambda} BA(xy') = -\lambda y'(1) - (1 - 2\lambda)y(1) + \frac{(1-2\lambda)(1-\lambda)}{\lambda^2} BA(y)$$

$$3) BA(x^3y''') = -\lambda y''(1) - (1 - 3\lambda)y'(1) - \frac{(1-3\lambda)(1-2\lambda)}{\lambda} y(1) + \frac{(1-3\lambda)(1-2\lambda)(1-\lambda)}{\lambda^3} BA(y)$$

Proof: same as one and two.

$$4) BA(x^4y^{IV}) = -\lambda y'''(1) - (1 - 4\lambda)y''(1) - \frac{(1-4\lambda)(1-3\lambda)}{\lambda} y'(1) - \frac{(1-4\lambda)(1-3\lambda)(1-2\lambda)}{\lambda^2} y(1) + \frac{(1-4\lambda)(1-3\lambda)(1-2\lambda)(1-\lambda)}{\lambda^4} BA(y)$$

Proof: same as one and two.

So,

$$BA(x^n y^{(n)}) = -\lambda y^{(n-1)}(1) - (1 - n\lambda) y^{(n-2)}(1) - \frac{(1-n\lambda)(1-(n-1)\lambda)}{\lambda} y^{(n-3)}(1) \dots + \frac{(1-n\lambda)(1-(n-1)\lambda) \dots (1-\lambda)}{\lambda^n} BA(y)$$

Proof: By Induction.

Example (10):

(1) To solve the ODE $xy' + y = 1$; $y(1) = -2$

We take BA to both sides, we get

$$-\lambda(y(1)) + \frac{1-\lambda}{\lambda} BA(y) + BA(y) = \frac{\lambda^2}{1-\lambda}$$

$$BA(y) = \frac{\lambda^3}{1-\lambda} - 2\lambda^2 = \frac{\lambda^2}{1-\lambda} - 3\lambda^2 \quad (\text{By division})$$

$$\Rightarrow y = 1 - 3x^{-1} \quad (\text{By inverse})$$

(2) To solve the ODE

$$x^2y'' + xy' + y = x ; y(1) = y'(1) = 1$$

By taking BA to both sides, we get

$$BA(y) = \frac{\lambda^4 - 2\lambda^3 + \lambda^2}{(2\lambda^2 - 2\lambda + 1)(1-2\lambda)}$$

By partial fractions, we get

$$BA(y) = \frac{\frac{1}{2}\lambda^2}{2\lambda^2 - 2\lambda + 1} + \frac{\frac{1}{2}\lambda^2}{1-2\lambda}$$

By taking inverse to both sides, we get

$$y = \frac{1}{2}\sin(\ln(x)) + \frac{1}{2}\cos(\ln(x)) + \frac{1}{2}x$$

$$\text{Since } (BA(\sin(\ln(x)) + \cos(\ln(x)))) = \frac{\lambda^2}{(1-\lambda)^2 + \lambda^2}$$

(3) To solve the ODE $xy' - y = \ln(x)$; $y(1) = 2$

After taking BA to both sides, we get

$$BA(y) = \frac{\lambda^4}{(1-2\lambda)(1-\lambda)^2} + \frac{2\lambda^2}{1-2\lambda} = \frac{3\lambda^2}{1-2\lambda} - \frac{\lambda^2}{(1-\lambda)^2} \quad (\text{By taking partial fractions to first term})$$

By taking $(BA)^{-1}$ to both sides, we get

$$y = 3x - \ln(x) - 1 \quad \text{Since } BA(\ln(x) + 1) = \frac{\lambda^2}{(1-\lambda)^2}$$

Rules: In the following we will give some useful rules

$$\text{Rule (1): } BA(\ln(x) + 1) = \frac{\lambda^2}{(1-\lambda)^2}$$

$$\text{Proof: L.S } BA(\ln(x) + 1) = BA(\ln(x)) + BA(1) = \frac{\lambda^3}{(1-\lambda)^2} + \frac{\lambda^2}{1-\lambda} = \frac{\lambda^3 + \lambda^2(1-\lambda)}{(1-\lambda)^2} = \frac{\lambda^2}{(1-\lambda)^2} = R.S$$

$$\text{Rule (2): } BA(\sin(\ln(x)) + \cos(\ln(x))) = \frac{\lambda^2}{(1-\lambda)^2 + \lambda^2}$$

Proof: L.S

$$BA(\sin(\ln(x)) + \cos(\ln(x))) = BA(\sin(\ln(x))) + BA(\cos(\ln(x))) = \frac{\lambda^3}{(1-\lambda)^2 + \lambda^2} + = \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 + \lambda^2} = \frac{\lambda^2}{(1-\lambda)^2 + \lambda^2} = R.S$$

$$\text{Rule (3): } BA(\sinh(\ln(x)) + \cosh(\ln(x))) = \frac{\lambda^2}{1-2\lambda}$$

Proof: L.S

$$BA(\sinh(\ln(x)) + \cosh(\ln(x))) = BA(\sinh(\ln(x))) + BA(\cosh(\ln(x))) = \frac{\lambda^3}{(1-\lambda)^2 - \lambda^2} + \frac{\lambda^2(1-\lambda)}{(1-\lambda)^2 - \lambda^2} = \frac{\lambda^2}{1-2\lambda} = M.S = R.S$$

$$\text{Rule (4): } BA(nx^{n-1} - (n+1)x^n) = \frac{-\lambda^2}{(1-n\lambda)(1-(n+1)\lambda)} \forall n \in R$$

$$\text{Proof: L.S} = n \frac{n\lambda^2}{1-n\lambda} - (n+1) \frac{\lambda^2}{1-(n+1)\lambda} = n\lambda^2 \left[\frac{1}{1-n\lambda} - \frac{1}{1-(n+1)\lambda} \right] - \frac{\lambda^2}{1-(n+1)\lambda} = n\lambda^2 \left[\frac{1-n\lambda-\lambda-1+n\lambda}{(1-n\lambda)(1-(n+1)\lambda)} \right] - \frac{\lambda^2}{1-(n+1)\lambda} = n\lambda^2 \left[\frac{-\lambda}{(1-n\lambda)(1-(n+1)\lambda)} \right] - \frac{\lambda^2}{1-(n+1)\lambda} = \frac{\lambda^2}{1-(n+1)\lambda} \left[\frac{-n\lambda-1+n\lambda}{1-n\lambda} \right] = \frac{-\lambda^2}{(1-n\lambda)(1-(n+1)\lambda)}$$

Example (11): To find BA(1 - 2x)

Here n = 1

$$\Rightarrow = \frac{-\lambda^2}{(1-\lambda)(1-2\lambda)} \quad \text{from rule (4)}$$

$$\text{Now; } BA(1 - 2x) = BA(1) - 2BA(x) \\ = \frac{\lambda^2}{1-\lambda} - 2 \frac{\lambda^2}{1-2\lambda} = \frac{\lambda^2 - 2\lambda^3 - 2\lambda^2 + 2\lambda^3}{(1-\lambda)(1-2\lambda)} = \frac{-\lambda^2}{(1-\lambda)(1-2\lambda)}$$

Identities: In this section we will introduce number of identities which we are used to solve differential equations.

$$BA((x \ln(x))y' + y) = \frac{1-\lambda}{\lambda} BA(y \ln(x))$$

$$\text{Proof: } BA((x \ln(x))y' + y) = \lambda \int_1^\infty x^{-\frac{1}{\lambda}+1} (\ln(x))y' dx \\ = \lambda \left(x^{-\frac{1}{\lambda}+1} (\ln(x))y \right]_1^\infty - \int_1^\infty x^{-\frac{1}{\lambda}} y dx - \left(-\frac{1}{\lambda} + 1 \right) \int_1^\infty x^{-\frac{1}{\lambda}} (\ln(x))y dx \\ = -\lambda \int_1^\infty x^{-\frac{1}{\lambda}} y dx + \left(\frac{1-\lambda}{\lambda} \right) \cdot \lambda \int_1^\infty x^{-\frac{1}{\lambda}} (\ln(x))y dx \\ \Rightarrow BA((x \ln(x))y' + y) = \frac{1-\lambda}{\lambda} BA(y \ln(x))$$

Example (12): to solve the DE $((x \ln(x))y' + y = \ln(x))$ by using the above identity

$$\frac{1-\lambda}{\lambda} BA(y \ln(x)) = \frac{\lambda^3}{(1-\lambda)^2} \Rightarrow BA(y \ln(x)) = \frac{\lambda^4}{(1-\lambda)^3}$$

$$\Rightarrow (y \ln(x)) = \frac{1}{2} (\ln(x))^2 ; \quad \text{By using } (BA)^{-1}$$

$$\Rightarrow y = \frac{1}{2} \ln(x)$$

Example (13): to solve the DE $((x \ln(x))y' + y = 1)$ by using the above identity

$$\begin{aligned} \frac{1-\lambda}{\lambda} BA(y \ln(x)) &= \frac{\lambda^2}{1-\lambda} \Rightarrow BA(y \ln(x)) = \frac{\lambda^3}{(1-\lambda)^2} \\ \Rightarrow (y \ln(x)) &= \ln(x) ; \quad \text{(By using } (BA)^{-1}) \\ \Rightarrow y &= 1 \end{aligned}$$

$$1. \quad BA((x \sin(\ln(x)))y' + (\cos(\ln(x)))y) = \frac{1-\lambda}{\lambda} BA(\sin(\ln(x)))y$$

Proof: By finding $BA((x \sin(\ln(x)))y')$ will get the result or proof.

Example (14): to solve the DE $(x \sin(\ln(x)))y' + (\cos(\ln(x)))y = 1$, by using the identity (2).

$$\begin{aligned} \frac{1-\lambda}{\lambda} BA(\sin(\ln(x)))y &= \frac{\lambda^2}{1-\lambda} \\ \Rightarrow BA(\sin(\ln(x)))y &= \frac{\lambda^3}{(1-\lambda)^2} \\ \Rightarrow (\sin(\ln(x)))y &= \ln(x) \quad \text{(By using } (BA)^{-1}) \\ \Rightarrow y &= (\csc(\ln(x))) \ln(x) \end{aligned}$$

$$2. \quad BA((x \cos(\ln(x)))y' - (\sin(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\cos(\ln(x)))y)$$

To prove it get the first term $BA((x \cos(\ln(x)))y')$ then will get the proof.

$$3. \quad BA((x(\sin(\ln(x)) + \cos(\ln(x)))y' + (\cos(\ln(x)) - \sin(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\sin(\ln(x)) + \cos(\ln(x)))y)$$

The idea of proof same as (2) and (3).

$$4. \quad BA((x(\sin(\ln(x)) - \cos(\ln(x)))y' + (\cos(\ln(x)) + \sin(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\sin(\ln(x)) + \cos(\ln(x)))y)$$

The idea of proof same as (2) and (3).

$$5. \quad BA((x \sinh(\ln(x))) + (\cosh(\ln(x)))y) = \frac{1-\lambda}{\lambda} BA((\sinh(\ln(x)))y)$$

$$6. \quad BA((x \cosh(\ln(x)))y' + (\sinh(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\cosh(\ln(x)))y)$$

$$7. \quad BA((x(\sinh(\ln(x)) - \cosh(\ln(x)))y' + (\cosh(\ln(x)) - \sinh(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\sinh(\ln(x)) - \cosh(\ln(x)))y)$$

$$8. \quad BA((x(\sinh(\ln(x)) + \cosh(\ln(x)))y' + (\cosh(\ln(x)) + \sinh(\ln(x)))y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA((\sinh(\ln(x)) + \cosh(\ln(x)))y)$$

$$9. \quad BA(x(\ln(x))^2 y' + 2(\ln(x))) = \frac{1-\lambda}{\lambda} BA((\ln(x))^2 y)$$

$$10. \quad BA(x(\ln(x))^3 y' + 3(\ln(x))^2 y) = \frac{1-\lambda}{\lambda} BA((\ln(x))^3 y)$$

$$11. \quad BA(x(\ln(x))^n y' + n(\ln(x))^{n-1} y) = \frac{1-\lambda}{\lambda} BA((\ln(x))^n y), \quad \forall n \in \mathbb{Z}^+$$

From above identities, we can get the following results:

$$i. \quad \text{From (6) } BA((x^2 - 1)y' + (x + x^{-1})y) = \frac{1-\lambda}{\lambda} BA\left(\frac{x^2 - 1}{x} y\right)$$

$$ii. \quad \text{From (7) } BA((x^2 + 1)y' + (x - x^{-1})y) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA\left(\frac{x^2 + 1}{x} y\right)$$

$$iii. \quad \text{From (8) } BA\left(-y' + \frac{1}{x} y\right) = -\lambda y(1) + \frac{1-\lambda}{\lambda} BA\left(-\frac{y}{x}\right)$$

iv. From (9) $BA(x^2y' + xy) = -\lambda y(1) + \frac{1-\lambda}{\lambda}BA(xy)$

Examples (15):

1. To solve the DE $(x^2 - 1)y' + (x + x^{-1})y = 1$

By taking BA to both sides of the DE and using first result (i) will get

$$\begin{aligned} \frac{1-\lambda}{\lambda}BA\left(\frac{x^2-1}{x}y\right) &= \frac{\lambda^2}{1-\lambda} \\ \Rightarrow BA\left(\frac{x^2-1}{x}y\right) &= \frac{\lambda^3}{(1-\lambda)^2} \Rightarrow \frac{x^2-1}{x}y = \ln x ; \text{ by taking } (BA)^{-1} \\ \Rightarrow y &= \frac{x \ln x}{x^2-1} ; x \neq \mp 1 \end{aligned}$$

2. To solve $(x^2 + 1)y' + (x - x^{-1})y = \ln x; y(1) = 0$

By taking BA to both sides of DE and by using result (ii) we get

$$y = \frac{\frac{1}{2}x(\ln x)^2}{x^2+1}$$

3. To solve $x^2y' + xy = 1; y(1) = 0$

From result (iv) and by taking BA to both sides, we get

$$\frac{1-\lambda}{\lambda}BA(xy) = \frac{\lambda^2}{1-\lambda} \Rightarrow BA(xy) = \frac{\lambda^3}{(1-\lambda)^2}$$

By taking $(BA)^{-1} \Rightarrow xy = \ln x \Rightarrow y = x^{-1} \ln x$

References

1. Gabriel N., "Ordinary Differential Equations" Mathematics Department Michigan State University , East Lansing , MI , 48824 , October 14 , 2014.
2. Hassan Mohammed, A. (2008). Solving Euler' s Equation by Using New Transformation. journal of kerbala university, 4(2), 103-109.
3. Mohammed, A. H., Hussain, Z. M., & Hadi, A. S. (2015). On Al-tememe transform and solving some kinds of ordinary differential equations with initial conditions and without it and some applications in another sciences (M. Sc. thesis). Submitted to the Council of University of Kufa, Faculty of Education for Girls.
4. Mohammed, A. H., Hadi, A. S., & Rasoul, H. N. (2017). Integration of the Al-Tememe Transformation To find the Inverse of Transformation And Solving Some LODEs With (IC). Journal of AL-Qadisiyah for computer science and mathematics, 9(2), 88-93.
5. Mohammed A.H , Ali B.S " Solving linear systems of partial differential equations of the second order by using AL-Tememe transform " International J. of math. Sci & Engg . Appl (IJMSEM) vol.10 NO.II 2016, pp.55-65.
6. Emad Kuffi, Elaf Sabah Abbas, Sarah Faleh Maktoof, Solving The Beam Deflection Problem Using Al-Tememe Transforms, Journal of Mechanics of Continua and Mathematical Sciences, Vol.-14, No.-4, (2019), pp. 519-527.